


ADDITION




ADDITION




ADDITION




ADDITION




ADDITION

/\ (O=2[J-10
=15+ H+( )=
/\-11 LA




ADDITION

/\ @ 5| [=10
0 +(5)+(5 )=

/\11@A 0 =16




ADDITION




'/\=z (=4
=6 A\+(4)

=10 @+A+

8

ADDITION

=8

+A8

: 14

+(4 )+




ADDITION




ADDITION




ADDITION




ADDITION




ADDITION

/\ (=?
=12+ )+ )=15
/\-15 Cov/\+ =18




ADDITION

/\ Q

9

+A\=




ADDITION




ADDITION




ADDITION




ADDITION

/\:8 O:l =2
A-I- =0 A-l- +A 17

A+ 2 =10 CH+A\+| 2 =11
2 #(1)=3 | 2 +(1)+




ADDITION




ADDITION




ADDITION




ADDITION

/\ Q 6
+®+@ 13

A4@A =10




ADDITION

/\ ©‘> =6

2110 [+ O+ =16
/\-10 COo/\¢| =15




ADDITION

24 Oea -
+@+@ 16

A 10@A =15




ADDITION




ADDITION

/\ Q 6
+®+@ 21

Am@ﬂ =2




ADDITION




ADDITION

/\ @ 10| |=8

8 +(10)+(10)=28
A 10 0-»@ =20
A +(10)= 12C10+(10)+ (10230




ADDITION




ADDITION

/\ Q >
+@+@ 11

A9 @A = 14




